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If a person moving from po_le' to equator, the centrifugal force acting on him
(AN Increases

(B) Decreases

(C) Remains the same

(D) Increase and then.decrease

(E) Answer not known

weflgQmmeur Ljafullemr @@mg@eﬂ(@mgj pRaemys CarlGu uGHeuw Ggmﬁsaﬁ] auHA .
<ieuflen Bg Gewdu@b enbwellads edlas

(A) I EAG T

B) @opub

©  wnpng

D) sda sflafsg. Geny Gopuibd

(E) ofen Qzfuweliebened

Elements like Silicon and Germanium to be used as a semi conductor is purified by
' method.

- (A) Heating under vaccum
(B)./Zoue-reﬁning o
(C)  Van-Arkel Method

(D)  Electrolysis

(E) Answer not known

Gon sLssermsl umé&ru@ﬁﬁeﬁ]&eﬁr, Qegiroreflwid Curern geflohiger
pepuie gnuemwliu®ssiu@Saner.

@) Gapflsdo GaiLLULGssse

B) yessIL@LLTESD

8 aurreirr—%r'rasaﬁ (o

(D) WOewenmh u@ggpm

(E) eflen @g,rﬂua%b%mu
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3. Match the following :

(a) Zoophily : 1.  Vallisneria

(b) Hydrophily . 2 -Grass

(¢) Entomophily & Canna

(d) Anemophily A 4.  Salvia
@ O e W

A gl o

B 3 2 v 2 4

(3 2 3 4

(DJ? : 1 4 2

(E) Answer not known

SpseaT_eunenn CQLNmHESs :

(8)  @ool96d] I Gun@ﬁefu@(r_r.)rﬂmrr

- (b) Gﬁ)@).l._GUT.FoOnIE]G& | 2. Ljed
(c) Tl CLomss196) 3. séee LD
(d) <af GLD-rrfoﬁ]@S] ' . 4.  gmeoedwim

@ ) oW

it 4 2 1
®B) 3 s 4
e 1 2. .3 4
.(D) 8 i

(E) oflenr Qsfueddame
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Which law is used to understand the structure and functions of heart and blood
vessels? s

(A) Chargaff’s law ' (B) Dop.ler’s law
(C) Hardy Weinberg law ; (D),[apla(:e law

(E) Answer not known

@swid wHYLD @168 HreThIGET %ﬁmmm@m 2enwliy wpmpib usllaemea s flbg Qsmerer

2 5eyb ¢l = - G

(A)  smissTd NS (B)  Lmierm aflgl .

(C)  apning eSer Quits ol D) eomiGare 698 B
EB) oo Gsfuiclidama '

The ends of the seminiferous tubules open into an irregular networks, which is

called, . : : o
(A) Albuginea (B) Testis G

(C) Spermatié card ' ( ete testis

(E)  Answer not known :

ellbgs BT GLO&ET, Q(PHRISHD cuameaLidlearar iemwliLTeT @saiar Snsdleamer
e _ (B) QLaviqeid

(O ®Quiorgs Genp (D) QrQLévigen

(E) | eflent Agflwefdana '

AVerage rain in temperate forest is

(A) 850 mm — 2000 mm | (B) | 850 mm — 2600 mm
CS750 mm - 1500 mm @) 250 mm — 750 mm
(E)  Answer not known

g Geulsus weart_evs srhiselen srmai wapli@umfe) eramg

(A) 850 mm — 2000 mm ~ (B) 850 mm — 2600 mm
(C) 750 mm — 1500 mm : (D) 250 mm — 750 mm
B e GRS, '
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% In Central dogama of Molecular biology

GDNA S 2 I_nRNA—i» Pgig:;:f -
(A;/ X — Replication, Y — Transcription, Z — Translation.
B X- Trans.cription, Y — Translation, Z — Replication
(C) X —Splicing, Y — Transcription, Z — Translation
(]j) X - Tra_ns‘lation, Y — Replication, Z — S.plicin.g

(E) Answer not known

ppevdaamy 2 Wflweler g il & smHSSe

@ BN s 518 .%T.T.GI'GEH.G,I‘.—Z—) urellQuiienL (B

_ (Lrsd)
@) X - @ arumse, Y - usQuEss®, Z — GomAiaLLisss
B)  X-ugQu@ssed, Y — QumdiiGuuigse, Z — @ULLq_Du&g,é)
© X-Qarsse, Y — LigQuBssd, Z — QumfuQuuisgss
O  X-Gumfo@uuisss, Y - @risiumsd, Z - Qs
E) o Asfweiiema

8. Name a clinical trial in which blood is transfused from recovered COVID-19 patients
“to a Corona virus patient who is in critical condition '

(A)./ Plasma Therapy = (B) Solidarity

(©) Remdesivir ' (D) Hydroxychloroquine

(E) Answer not known

Brasiul L Ceredl -19 CrrurefsefllBhg wUSsTa Hleneuild 2 6mer 6 QanCrmenm
seuren Gpmunallsg @rses uRiorpod Qeliw LwaLESSILEDL LNGsrgeenSer Guw

(A)  Qermevwor-Qgma (B) smedlmfliig _

© .@I}'Lblp_ﬂls]@mﬁ' ' : | (D) eanl yr&d @CernCrm@uiler

E) e Gofuelime
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10.

: ‘N?ayog’ substituted Planning Commission was effect from

(A
(B):  Februar2 2015
(©) Jénuary 5,2018
(D) March 15, 2015

January 1, 2015

(E) _ Answer not known

AL bEWeaDE .mrrm.rrés B CUTE oL PODES IbSE!
4) a1, 2015 |

(B) Oupe 2, 2015

(C)  mareufl 5, 2018

(D) e 15, 2015

(B) ol Gsfucidome

The ministry of Jal Shakthi of Government of India recéntly Tamil Nadu was
awarded (2019) place in

(A) 3 Place
(B). 2nd Place
(Cx/lﬂt Place
(D)  10% Place

(E) Answer not known

| Qpdlwmellen ged 568 Hem0EFHESFTR SOIDBHT.HES dowLgg ellmg (2019)

@A) 3™@Lb

B 2*@Lb

©€) 1*@Lw
® 107G

(E) &l Gsfueldwame
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11.  Which of the below bounds Nagaland on the east?
(A) Assam - (B) West Bengal
(CJ Myanmar (D) Mampur

Answer not known

£Cy Qan@éstiLi_(erarerasalics BrETONHSIEE 2T 8i6E eréama o1g)?
(A)  =emd . (B GLD,@)@.@_II‘QJ«BSITGTTL‘D.

(C) Burenor (D) wemflLiyf

(B) eflenL Gsfwelavae =

- 12.  World differently abled persons day is celebrated on
(AJ December 3 . ' (B) -November.?;
(C)  October 3 _ (D) August 3

(E) Answer not known

2 V& mrr_r_b@@mmrr@ﬂasm Slenors Ggmerm L L._I.@Lb [BITEIT
(A 7 ebur 3 . (B) meubui 3
(C)  =&6Cmumd - - (D) <sev 3
B oL Asfusidema '

13.  Chennai Metro Rail pfoject pha‘se I was fully operated on
&)  10.2.2020 - By0.2.2019
(C)  10.2.2021 - (D) 10.2.2.018'
(E) Answer not known .

Caemenan @LDLGW_@UL&}@ L psed HL_L LD @@wmu_lrras_@&'u_léuut'_t_ <=2},607(H)
(A)  10.2.2020 i ' (B) 10.2.2019

©)  10.2.2021 D) 1022018
(E) e Gsflwelicvenaw '
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14.

15.

Which country conferred its highest civilian award to our Prime Minister on 4th June
20167 : ; ' A -

(A) China i = (B) Russia
(C)JAfghani_stan : . | (D) United States of America

(E) Answer not known

4 gg'@ﬁiﬂ 2016 =yid yarriqed eTHS Br(h alrj),@m‘_mreh o wiflw emsner ‘Helellwer mens pd
rsLoHéE euphidluig? '

A) e e (B) yegwir
©) usralavgrer (D) <Cwfés gadw priHser
(E) Jeni Ggflwefeeame '

Which River is know_n. as the “River of Death” in Eastern Ladakh?
(A) Damodar river : (B) Tapti river

(C) Indus river : (Mlyok river

(E) Answer not known

AéE wLTsH “QnHs m” eran SiewsslLGD BH 6g?
A) Gt B _ (B) sud B

©) &b pd D) AGwms pd

(E) e Osfweldene

Who was the winner in grand slam (Tennis) singles match 1in 2020?
(A) Sania Mirza : (B) Ramkumar

(C) Magesh Bhupathi (Dxgmit Nagal

(E) Answer not known .

Syrer everd (grand slam) G erefan ghepwi Gfeder 2020 & Qaipd Qupm (2020)
@nHwim wri? g ' '

(A smaflu Oisr 1 . . (B) ymbgomt
(C) wlsay LU (D) &85 mae

(E) eflen Gsflwellcvene
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17.  State the meaning of Inversion of Temperature
o Increasing temperature with increasing height
(B) Decreasing temperature with increasing height
(C) * Increasing temperature with decreasing height
(D) Increasing temperature with increasing humidity

(E) Answer not known

Qeuliu saredLp THDSSH Heien eflemésaLD

(A) 2wrb sdsfsen Curg Geutiugpbd glsflsEn
(B) owpb é@asrﬂe'f@m Gurg Qeutiuaphd Gerpdpg)

(C) ewmbd Gy Curg Geuliuapbd Sgsl&sng

(D) . FFLILSLD a@&rﬂé;@@ Gung Qeuliupd SFsM&ES pg
(E) . el GsNwefdene

18. Assertion (A): The arid soil is dry due to prevalence of the dry climate, hlgh
' temperature and accelerated evaporation.

Reason (R) : This is also dry due to lacks of humus content became of absence of
' vegetative cover. ' :

(A) (A) 1s false, (R) is true.
(A) is true, (R) is false.
( Both (A) and (R) are true and (R) is the correct explanatlon of (A).
(D) - Both (A) and (R) are true but (R) is not the correct explanation of (A).
(E)  Answer not known '

: aaﬁﬁ)gj A) - QUMERTL. LITENED LOGHT eupeRt &irey Flena, igls Glauiib STTERTLDTS éﬂ,eﬁlmr@w
<idlsns @ miLgre Gue e eupent(h sra LR DG

smyemid (R) : @w@m Qe aupat(® sramiLBeISDE STIERID STEUTBISET @) e menLowimed
' Qv L GF 858 GeDaITES SranrLHSDg).

A)  smpm (A) seum, Srrr;samn'e (R) M. .

B) apm (A) &fl, smyemrid (R) Seuml.

(C) smnm (A) wHMD STFERTID (R) @renr(Hio &, STIEwTD (R) sapmssrer (A) sflwrer
eflen&&LMEGLD.

D) sdy (A) wopmbd smyewd (R) @r;sm@m sf, smperd (R) sapmésner (A) sflumen
: HETEHLD Siev6D. ;

(E) &lenr GsMweilcrene
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19.

20.

Choose the wrong sentence
(A) An Earthquake is sudden, rapid shakmg of the surface of the earth
(B) Earthquakes strike suddenly without warning and can occur at any time

(C) The impacts of the earthquakes include deaths, injuries and damage of
‘property ' '

(D}/Use an electric lift if inside the building during on earthquake

(E) Answer not known

gseupren cursdlwid Qsfleay Gl :

; (A) ﬂeu;r;@asasm Grsﬂug,j yetiugli9er ghuGb i$s I.iG)_CﬂU_I'&c;]ITG‘ﬁ)@_I @Lﬁ]as@m

B) peop@sésworay  ereusils @mm@aﬂuu@m@_ @m@um&m apgs  Crrsdled
Ceuam(HLoNETEILD HLIL D ' '

(©) ﬁmp@é&;gﬁsﬁ Gumg Qumml Gésb, smwmser wHMIL 2 uSlflpliy Guwémmemeu
gouid ;

D) HephsssHer Cung a;L_Lq_l_gf_ﬁleaT gen@ew @@,r_r;g,rra) Blengnsdlsenar umsmu@gygﬁas

Qarerer Geuamr(Hibd

(E) &Y Qaflwelidvena

was an important source of subsistence of the Harappans.
(A)  Fishing | |
(BL/Agriculture

(C)l Pettery

(D) Craft production

(E) Answer not known

@nyuum Loésa;@e%@ Qpe’aaﬁumnem QUTLPEUTH T el (P DUITS . G (BHSS.

(A Ben 9y S5

B) Geuenrmamrenio

(O wlurerid Qau'_Jg,eb

(D) @sellaers Ggmfldaser -

(E) e&fenr Qpfwelicvens
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21. Assertion (A): Periyapuranam was written by Sekkizhar during the reign of
Cholas. Seevakasindhamani and Kambaramayanam were also

written during the reign of Cholas.
Reason (R)': Tamﬂ literature flourished during Cholas period. :
Considering (A) and (R), choose the correct answer :
(A)  (A)is'true, (R) is false.
(B) (A) s false, (R) 1s true.
(C)/ Both (A) and I(R) are true and (R) is the correct explanation of (A).
(D) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(E)  Answer not known
Spsam_ spmsaia sfluraee ceeu?
sapp (A):  QuAuyggremd  Cesflpmmed  apsUUlLg.  Cogib  Susdlpsmoend

sugmmwed dlwiemel Campir srasdle Lenl SsHLL L ar.

sryenid (R) : Gampit smed Lol Glevsdlw eueTTEslEE LSS ey SHSSI-

sfwar eflenL_wie -
A) (A af gyema (R) saum.

B) (A seuy <pame (R) &,

© (A wppid (R) @ran®id s, Gogus (R) aarug) (A) —elihe sflumen eflerésib.

D (&) wppo R) @rerGo o, syeme (R) aeang (A)-elpe sl dlarsioiem.
B o pfluciime |
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22.

23.

Integrated rural development programme was introduced on

(A) 1990 ' ' (B) 1992

(©) 1982 ' (Me}so

(E) Answer not known

‘@HBISlmeRTHE 2ays eSS QLLL’D' <D APp&HLD QeriiwiucL <1 (D)

A) 1990 - - (B) 1992

(C) 1982 | - (D) 1980

(E) &flenr Qaflweilcvens

Assertion (A) : The 42nd Constitution Amendment has been referred to as the
‘Mini Constitution’ '

Reason.(R) . It was the bulkiest and most comprehenswe amendment.

Pv Both (A) and (R) are true and (R) is the correct explanation of (A)

(B) Both (A) and (R) are true and (R) is not the correct explanatlon of (A)

(C)  (A)is true but (R) is false :

(D) (A) is false but (R) is true

(E) Answer not known :

Fa.HM) (A) : 42 eug) rflueewliy SmssFe LD e @gp SirflueenioliL] eram
GO LU Eng). g

sryentd (R) : SiFlEoman aﬁ]@asemm Qamean() Q(HBSlenemTaa LI L
: ﬁ@g;g;&&u_m

(A) &DQJ(A)LD smyed (R)ib sfwrereneusar DGD. SyETD R) sapm (A)ssrer sflwime

: aﬁim&asmrr@m :

(B) asmpm(A)b smenn (R)b sflureremeaisearr@. e sryeurd (R) aaxg)gu(A)a;asrreuT

sflwing elerssefaene :

C)  (A) eapm #f yenmed smyewtd (R) seum

(D) (A) DM seum parme smyewrd (R) &

(E) dlenL Gaflwslldvene
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24. Consider the following correctly matched :

I National emergency —  Article 352
. II. War emergency ~  Article 343
III. State emergency @ —  Article 356
IV. Financial emergency — | ~ Article 360

A LIlandIV
B) II, III and IV
(C©) I IIandIIl

f) I III and IV

(E) Answer not known

0

Spsarsupiier sflwrs Qummhdujdrerens sewrLHls

i Caflw QApmésy. Hlave - 2.muy, 352
I Gumi QBmEsl. Hlane IR 2 miviy, 343
L wrile Apmésy. Hlew = 2 miuiy, 356
IV. 68 Qpmsésiy Hee . - 2 g, 360

@A) L II wpmn IV ‘
®) 1L I pyi TV

© 1 I opgs 1M

D) I, IiI whmib IV

(E) oflenL Qsflwelieransv
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25.

26.

(E)

‘When do we celebrate ‘International Human Rights Day” every year?

(A 10th September _ :
(BVH)“’ December - : o
(C)  14th November :

(D)  10th October
Answer not known

greuCse waflg 2 Manwser ferb geubeun g,amHib eruCung CamearrLm_LiLiGEng?

(A)
(I

©)
D)

(E)

10 Qe burr
10 gabum
14 meubur
10 &és@l_rruﬁ

eflenL GlgMwedldenen

Who among the following recommends to the parliament for the abolition of the

legislative council in a state?

(AV The Legislative assembly of the concerned state

B)

(©)

D)

(E)

The President of India
The legislative council of the concerned state
The Governor of the concerned state

Answer not known

- Qeeumeuceupmled  &p(m .mn‘fﬁlwgﬁ@ glLwen Goemeuem &S unqﬂ@mmmgﬁﬁ)@.

ufibgieny Gaieug)

(A)  =ipg wrflegdayamLw sl wan Cureme
B)  ©aursssooai

(C) <ps wrhlasden s L Geene

D)  eips orhbHen @

(E) éﬁ]sml_ Qs fuieferencn
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28.

The Supreme Court Judges has been appointed by the President in consultation with
(A) ,The Prime Minister '

(Bs " CJI Lead Collegium

(C) The Law Minister

(D) The Vice President

(E)  Answer not known

&é.&rf;‘élmshjp béluglaenar Glgwrssd  someelm wrmalw HGoremeandar  Guifld
BwLO&E mr? ik '

(A) Answof . .

B) soeaw fHudsda smewembularar SHudser @

(C) sl oeowasr _ ' =

D)  GYLISS Sas Sl

(B) oflev Qzfluedcrenes '

Under which one of the following Constitution Amendment Act, four language are
included under eighth schedule of the constltutlon of India, there by the number of
official language up to 22?

(Bodo, Dogri, Maithili, Santhali). _
(A)  Constitution Amendment 90 Act — 2003

(B) _ Constitution Amendment 91 Act — 2003

( Constitution Amendment 92 Act — 2003
(D)  Constitution Amendment 93 Act — 2005
(E)  Answer not known

Spanamid b QA sirflue ey &I'_l_gﬁ@gsgﬁ eTL_meugl DIl euenamtuflesr &ip
4 Qumflsamer Genamss), sigiauas Gwmfladr 22 ous 2wy eulf) Gu@g;g,g,ﬂ
(GurGLm, GLréf, ewdlel, ghsTed)

4) 90 augl irflwed el &L gHmssn 2003

(B) 91 augy mipflwied c“%hmqu L sHmss0 2003
(©) 92 aug =pdlwe el s L 8 mssn0 2003
(D) 93 augl cipflwier Siemwii sl L s mssd 2005
(E) dllenL Qaflweieena
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29.

30.

What does ‘BIMARU' implies?

(A)  States with the lowest birth rates |

(B) States with the Highest mortality rates
(05/ The most populous states

(D) The least populous states

(E) Answer not known :

“BIMARU” erenLigy) eTang @M&8mg)?

(A - eonis Yol Adgsms CareT wrblemsar

B) =ds @iy Aflssms GsrarL wbleobisar

()= g‘é,]a; LD&SHET Gﬂgrrmas@&rrs&m_ Lombley el

D) Eopbs éEe Qgrens CararL wrbleomser

(B) &L Qgflwsideane

Assertion (A) : The seventh five year plan was successful

Reason (R) : For the first time, due to the pressure from private sector, the
: private sector got the priority over public sector

(A) Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(BVBoth (A) and (R) are true, and (R) is the éorrect explanation of (A)
(C)  (A)is true but (R) is false

(D) (A) is false but (R) is true

. (E) Ans_wer not known

Xl Q) :  gpraug ghsrar® S Qeuph Qupps!
smyamd  (R) : Wpserpenns dunggienss Goars saflwnm sonsE parayfan
' GUIPEISLILIL L g ' :

A) (A wpoib (R) Qrem®ib af. epanmed (R) aramuzy (A) eflp sflwumar eferasiode
B) (A wppid R) @rem@ib &, Gogyibd (R) aranug (A) e, s elioniei

C)  (A) &fl e (R) seumy :

D) (&) e spema (R) of

(E) eflenr Qg,rﬂu.z@ﬁ]_ebmeu

T e ~ GSCE/2021
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31. Match List I with Last II :

(a)

®)

©
(d)

List—1
First World War
New Industrial policy

Green revolution

HYV

@ 0 ©
( 4 2

(B)
©)
D)

3
2 1 4
o ah iy
2 3 4

(E) Answer not known

(d)

N

At s

List — I1
High Yielding varieties

1960

1991

1914

L gwed I 2 erereumenn L gwied IT 6 Gump55is :

(a)
(b)
(©
(d)

A)
B)
(©
D)
(E)

u@qm@—l

(PGS o qaL1 QU

(d)

e A

qﬁu_t GamPn Camarens
u&émmlju gU&

HYV

@ ® ©

4 3 2

2- 1 il

4 a1

2 0o
allenL Qg maﬁlﬁ)smsv

GSCE/2021
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1960

19.91

1914



32.

Consider the following statement

Assertion (A) : Chennai is nick named as “The Detroit of Asia” is home to a large

number of Auto components Industries

Reason (R) : Tamil Nadu has 28% share each in automotive and auto

components indu_stries 19% in the truck segment and 18%

passenger cars and two wheelers

(A,l/ Both (A) and (R) are true and (R) is the right explanation to (A)

(B)
(©)

D)

®

Both (A) and (R) are true and (R) 1s not the correct exi;lanation of (A)
(A) is true but (R) is false

(A) is false but (R) is true

Answer not known

SipsaiT eurrﬁsﬁm BISEDET H(HSS 6 @a;fr@i_ma

&M

(A) : g Pwurelé Quigmil eranpenpdsiLib Qeaear WsLGLMW ierallemer ;

aurser 2 Sflurshsd swrfluyssTear @L rs edermhGsng!

smpemrd  (R) : s0p5r® @bdHu sierelfler aunser wHmib eursear 2 SRunshser 2 HUbHuile

(A)

(B)

©
D)
(E)

28% (b eonflssrer gmug,‘é,]uﬁla) 19% > vwesflwm ST wHHID Q(HEEST

- aunsen 2 HLSH e 18% Gamamr(HeTerg)

(A) whmid (R) @rein®ib &M, Gugitb (A) ssrer sfiuner ederésio (R)

(A) womib (R) @rem@in &fl, syemed (A) sarar sflwrer ellerésid (R) @aea

(A) o syanme (R) seum

(A) saum pamad (R) s

eflen GgMweileraney
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33.  Which of the following emerged as the hot bed of militant nationalism during the

Swadeshi movement?
(1)  Punjab

- (2) Bengal
(3) Maharashtra

(4)  Tuticorin

(A) 1 alone correct
(B) ~ 1and4are correct

2 alone correct

[B/l 2, 3, 4 are correct

(E) Answer not known

&QE@WL@JD@@T Grg,}/sremu &G54 Qusssdler Curg Selly G’g,é]usurrg;g,ﬁm Qi BTN

2 (meleuhiggan?
(1) u@&ﬁlﬁj _
(2) GUMBIGTETLD

(3  wsmyey b
@) 15556y

@) 100G s |

B loppbdoGosh
(©) 2wl @es

D) @maggbd sflureg)

(E) eflenr Qsflwedcvane

GSCE/2021 ' oo b



34.

Assertion (A) : Jawaharlal Néhru_’s regime is the golden period for the development
of modern S(.:ienc.e

Reason (R) : Atomic research and space research were started during his régimen
Consideriﬁg (A) and (R), choose the correct answer

(A)/ Both (A) and (R) are true and (R) is the correct explanation of (A)

(B) Both (A) and (R) are true and (R) 1s n.o.t the correct explanation of (A)

(©)  (A)is true, (R) is false

I(D). (A) is false, (R) is true

(E) Answer not known'

Bipsein_ smppsaie a:rﬂmmm Terau?

s (A) : ég@ <yl flésred pefear oidedlwie sumr‘rsc@_uﬁwaﬁ QuTpSTOD G
ém;reo‘mb R) : <iem %FIWULJ@&C‘]SSG‘;TT,. eflar@l e e @cprjrruj.&éiassh Gur.réirrgpméu' QeugrGen
| 2 (HEUTESLILIL L eval '

@ @) wipgs ®) @rankid o Cogib [R) crdng (A) e shurer s

B) (A u;mu:; ®) @rain@id af wyama (R) ereug) (A) .alﬁlg}@ sflwrar eferéanaa
© (&) sl syamed R) sy '

) () sk e ®) o

(E) oo Qglwellvensd

21 | ' GSCE/[2021
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35. A man repays a loan of %. 65,000 by paying Z. 400 in the first month and then

increasing the payment by %. 300 every month. How long will it take for him to clear
the loan?

/(ﬁ)_

(B)
(©
()
(E)

20 months

22 months

25 months

30 nionths

Answer not known

G (meuUIT g,rrcin Qupm %. 65,000 sLamar Smuds Ceiss wse wrgd . 400 Cegsmdpm.

<igan 9nE galarnm LISWD phosw LD Cewsdums el T. 300 sn(Rgeonss

QeQISSEDTT. SHeUT SIHHS HLMET DML & CTEUCLGTE HTEULD Gg,emsuﬂu@[o?

(A)
B)

©

D)

E)

20 wrgmiger
22 prgmser
25 g mRISET
30 wrgmiser

eflenL GgMwelerensn

36. A total of 324 coins of 20 paise and 25 paise makes a sum of Rs. 71. The number of

25 paise coins 1s

@)
©
(E)

120 & . | | (BJM

144 _ (D) 200

Answer not known

324 prawwiseie 20 eugr wHmd 25 @ust Clerem_ g,rrasuru.:rwaamﬂem Gmrrgg, wdHi ep. 71

GrGUﬂGD 25 enuigm premTwhisefl e TGS TS,

(A)
(©)
E)

GSCE/2021

120 =5 (B) 124
144 . D) 200
efenL Qg fwelerane
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37.

38.

39.

What sum of money will earn %. 500 as simple interest in 1 year at 5% per annum?

(A) 50,000 | - (B) 30,000

(CJ 10,000 | D) 5,000

(E) Answer not known

g D@ 5% ety oSEEAD @it peima i (5. 500 g5 Salaul g LTSS SEID 6> ATl
(A) 50,000 ' (B) 30,000 ' |
(C) 10,000 L (D) 5,000

) e Asfucidme o

A person decides to create a fund to be invested at 10% per annum to provide for
prize of Rs. 500 every year. The initial investment is

(A)  Rs. 4,000 . (BwRs. 5,000
(C) Rs. 6,000 - _ (D) Rs. 5,500

(E)  Answer not known

@ puiT eaiGeunm pemGid . 500 ufls aupriGasDsTs YarBsEE 10% e papuiie
w5686 Geiiw em Hfaw 2 (Haurss (iga| AsLd DT erafled S TbU WPSO [ ST,

(A)  em. 4,000 (B) em. 5,000

(C) . 6,000 (D) . 5,500

*E) eflenL Qg flwafiédena

If the cost of a dozen soaps is 2. 396, What will be the cost of 35 such soaps?

(A) 1515 (B) 5511

((})/1155 (D) 5115
(E

)  Answer not known

s Lsan Gemuyaafler elene T. 396 erafled 35 Gemisafler elleney eremen?

(A) 1515 (B) 5511
(Cy 1155 _ : (D) 5115
(E) efeni G]g,lﬂu@ﬁ]d}m@n

23 : GSCE/2021
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40.

B

42.

Find the HCF of 12 (x -x ) and 8(x - 3x° + 2x ) whose LCM is 24x° (x - 1)(x - 2)
@A =x-1 (B) 4x '

(Cvﬁlxz(x —1) - D) 2f-x |

(E) Answer not known

12 (x“ - J:g), 8(x4 - 3x° + 2x2)ain 8.Qumw 24x° (x - 1)(x - 2) erafle 15.Qum.eu sraiTs.
(A x-1 ' (B) 4x*

© 4x’(x-1) @ x22-x

(B)  ofor QpMueidoma

Find the GCD of 2x% -18 and x2 —2x — 3

-3 B) (v+3)

(C)_ (x+1) D). (x-1)

(E)  Answer not known

2x* —18 wppib x* —2x — 3 6 18.Qum.eu. srans.

®) (x-3) (B) (x+3)
© (x+1) D) (x-1)
(B) oo Qsfuciieme '

If x ~4 is the HCF of (x2 ~x-12) and (x2 —mx —8) then the value of m is
B 0 L

(C)~/2 _ Sl

~ Answer not known

(_Jc2 -X —12) LMHMILD (x2 —-mx —8) a1 5.Qum.eu. x—4 erafléd m ar iy
@ 0 n P - BLE

=20 =y 8

(B) e Qsfuciome '
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43,

44.

45.

9991 + 9992 1+ 9992 + 9992 £ 9992 + 9998 s simplified to
7 7 7 7 7 7

@A) 2997 | (B) 5979

(©) 5994 (DN

(E) Answer not known

3 4 5

smbes: 9991 +9992 19992 4 9992 49992 + 9998

7 7 i 7 :
o aoa7 (B) 5979
(C) 5994 | (D) 5997 -

(E) e&flenL Gsflweierens

In a distribution, the mean and mode are 66 and 60 respectlvely Calculate the

median
@) e3 : (Bﬁ

(C) 66 - (D) 192

(E) Answer not known

&( LireueSlen syma] pmid wpa® WwepGw 66 whmib 60 @b Gl Hlamuerne, &rers
o - B) 64

© 66 (D) 192

E) el GQzflueiierane .

The arithmetic mean of 6 values is 45 and if each value is 1ncreased by 4. Then find
the arithmetic mean of new set of values

A 45 (BW 49

©) 56 : D) 62

(E) Answer not known

6 g,r;ma;aﬂam .5=r;rrmﬂ 45, @au@@urr@ g,l;rm1_6m4 m& FallgaTe) HlenL @D &un&rﬂsmu_la; SITETE.

(A) 45 | (B) 49
(C) 56 | (D) 62

(E) eflenL Gaflweierana

25 GSCE/2021
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46. The following pie-chart shows the percentage of Literate and Iliterate — Males and
Female in a city

Hliterate
Female 8%

Literate
Literate Male 35% '
Female

33%

Illiterate
Male 24%

Total Number = 2,50,000

What is the different between the number of literate Males and Literate Females?
(A) 75000 (B) 1500

(OM 5000 : D) 500

(E) Answer not known

ECp 2 arer aul L 6ll6TES GUEDTULLOTETS (b (r_r;asug,ﬁsm a;eoeﬁ] <ifley Gumm Hmib QuDrs
<2}, ETEET LDHMILD Quesaer GM&S D).

sdedl =yhiay
Quprs Cueatrsdr 8%

s Qug ST SHET
R s
GQubnm
5 GluemTger
33%
as@’uaﬁ] ggﬁ]m
' Quprg .ﬂ,@m;m
Qurgshd = 2.50,000 BLIfGET - 24%

soallwe; QuHm ETGEESGL el c@qﬁﬂm Quibm QueTsERHEL 2 6rar aﬁlg)‘é,]u_lrr&m :

CTHEMENT HLITGET? .
(A) 75000 (B) 1500

(C) 5000 : _ (D) 500
E) e Osflwedoene :

GSCE/2021 26 T n



47.

48.

49.

If the Distance between earth and the sun were to be doubled, the number of days in

a year would be,
(A) 645 - (B>A032
(C) 1825 (D) 730

(E) Answer not known

yel&@d GNuaisEh Qe Gu o drer Hgrameaey @) (BLOL_BISTETTED, @l}rr_étim@ GTGUTLIG) GT&HSED T
BITL_&e?

(A) 645 5 (B) 1032

) 1825 (D) 730

(E) e Qsflwelerenen

According to Laplace, sound propagation is an procéss.
(A) Isothermal (B)gAdiabatic
(C) Isobaric _ (D) Isochoric

(E) Answer not known

@ellurang) (h ml_asgjgﬁéo uFeid pepmullener HsLpey erear miIaen SmE .
(A) GQeuuflene IS B) Geuiu ufwrppdldeans
(C) SI(PSSLD LTHMS (D) wmoer LIS

(E) eflen @g,ﬂusﬁ]sbmev.

Velocity of electromagnetic waves C is equal to

(A) VHo €o ' B) ey #

o= . om

Ho € Ho €

(E) Answer not known

Wensmhs siwasaia HasGaisnd C ash@s swb

(A Mo €o : _ B) HoSo

T - D) i |

Al ey Ho €o

(B) eflen Qsflwedicvene

©)

27 : _ GSCE/2021
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50. Magnesium hydroxide is used as a medicine for curing
(A)  Eyelotion '
(BVStomaich disorder
(C) Toremove stains in clothes
(D) Heéd ache

(E). Answer not known

wéelSlwib manl Frémen[) Taoss GTULHESID WD (HHSTS LwenUHEmg) ?
(A)  sein @S
(B) eulipm o LrssEEES
(C) geflsafler 2 drer smpsamer Sés
D) smeed -
(E) afen QsMwelerena

51.  The liquid fertilizer which releases about 60 nutrients from which plants can benefit -
is
(A)  Ammonium nitrate solution
_ (B) Liquid ammonia fertilizer
(C) Liquid nitrogen fertilizer
(DVSeaweed liquid fertilizer

(E) Aﬁswer not known

SITEUITTBISET ouG'cerq_JQJLb 60 oerl’ L& 55gi55amané @aw@éaﬁ]éﬁrm Syel 2 7ib
(A) | <iCGuoraflwib as)(ml'_Gr;ull. assmr;r&@ .
B)  Hreu Cwreflwm o gib |
(C) Sreu avpLlymer 2 b
. (D) ‘@%h;reﬁei; HL_DSENET 2_[JLD

(E) &fen QgMwelerens

. GSCE/2021 | 28 - ' n
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03.

54.

The roots that grows vertically downwards from the lateral branches into the soil is
called as s

'(A)  Epiphytic roots . (BN#Prop roots

(C) Climbing roots ' (D) Stilt roots -

(E) Answer not known

Léss Aemersalld Qmpg Sp Cpredl Cpyrs earibg warapsGer dedgib Ceufser

ﬂen'ruu®m
(A) @g;rrrpgj Geurr | (B) gnewr Gauft
(C) ug)gy Geurr ' (D) LG Ceurr

E) oL Osfluaidme

Which one of the following mineral is needed large quantity for plants?
(AVNltrogen (B) Phosphorus
(C) Calcium (D) Magnesium

(E) Answer not known

Wletreu(peuameupmieT W& idls iemeiled g;freu TRISEHEES Ggysﬁsﬁuu(ﬁm SevTlLOLD 6T 2
(A) aﬁ,@i'_ggsiﬁ ; _ _ (B) umevLigen

©) sr@dwib e . (D) Qusefun -

(E) cllenL GsMweilcreney

‘Which is used for synthesis of anthocyanin, lignin and other aromatm compounds

(AVErythroqe . B) : Buciose
(C)  Glucose (D) Fructose

(E) Answer not known

S BCHrFwemer, edlsafler whmid G gGr;rrr@mq_és ComomIgeT 2 (heunsssS HE LweaTuHeug) -
Q)  efgsCrmev - (B) &8CGyman
€) . BepsCsmav - (D) SLpsGLmev

(E) &fen Qafwelcrency

o | GSCE/2021
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55.  The silk moth begins to produce silk fibre, during this stage of its life cycle
(A) 3rinstar larva (B) 4th instar larva

(C) 5thinstar larva (Mupa

(E) Answer not known

UL QUES Sigen aunpsens sppdldar Qs Heoaie LG Gopeu sumss sanedns
(A)  3Jeug @emevL T eomfreur o (B) 4mgl@s&rm|_rrfr e ieur

©): - Scimlidi i | @) GO

E) eSlevr Qs Mlweilevena ' '

56. What is fhe éapacity of Blu-Ray disc?
(AL/ 50 GB (B) 4.7GB
©  15GB. . - M i7B
(E) Answer not known
Uit -Gy éul_'_Lq_GiIr Qamarerarey erewmen?
(A) 50 fsmepui : : (B) 4.7 flamenui_
©C) 15Qsmewu o (D) 2Qigrepul .
E) el QsAueiivema s

57. Name the application recommended by the Central Pollution Board of India to know
about the “quality of air” :

(A)JSameer (B) Umang
(C) Diksha 1= (D) Aarogya setu
(E) Answ_er not known

sThfler srmss sem_flu wiHu wress EUUILE arfugsrd GeuelubL Ll Gerar

Qawied :
@A) abi = B) 2w
(C) Béagn o D) Crrsdu Gal ()

(E) e Qg;rﬂmaﬁléoemu

fSeaes - 89 o 0



58.

59.

60.

What is the name of “half-humanoid” (robotic) astronaut, which will be on board the

Gaganyaan?
(A)  Skybot ki S (B)Ayomitra
(C) Sophia (D) Astrobee

(E) Answer not known

sadnuner S LS £ edanGaiciise Qsassu@D “wior waflg o e’ (GyrGun)
A)  msGurl _ B) aCumMAGyT

(© GemQum ' (D) e Grma

(E) ofevr QgMweiievens

The Technology used for stopping the brain from processing pain 1s.
(A) Precision medicine : (B) Wireless brain sensor
(C)JVirtual reality . (D) Radiology

(E) Answer not known

apaneriTans) eualewis Qeuars@ams Hngs’ LuaL@ESsILEL Asmfldor b
4) s wHmSFeD (B) sGGd@T ppener 2_amTiedl
(C) Quuflsro e 1 (D) sdflusseiwe

E) oL Gsfueddma '

National Statistical Commission NSC was set up in

e ~ (B) 2006

'(c_.).,/ 2005 _ () 2008

(E) Answer not known

Bsflw yereflwe siomp NSC oi@wssiiu L uer®

(A) 2001 : ' (B) 2006

- {C) 2005 (D) 2008

®) e Opflucioma

31 =  GSCE/2021
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o The voting age in general elections was redu_ced from 21 years to 18 by the
(A)  60th Amendme_nt
(B%/ 61st Amendment
(C) 627 Amendment
(D) 63w Amendment

(E)  Answer not known

@u@g Cairgeile GunésésaﬂéS@Lb g 21 yarrhsafic @@,r_r@] 18 =55 @Gmg)ésﬁ.l;ruf_l_@?
(A)  60cugy s L Hmssid .

B)  6leug s L Hmssid

© 62eug) s 1 Hmssid

D)  63ag st s

(E) | aﬁlem__@g,lﬂu_;aﬂéosmp

62.  All of the following statements are correét except
(A)  World’s largest hlghwa} tunnel is located in Indla
(Bc)/ The tunnel is located at an altitude of about 5000 meters above sea level
(C)  All the cool temperatures to travel and to establish the tunnels length 9.02 km
(D)  Itis built by the Border Road Organisation (BRO)

(E)  Answer not known

Yletrau(mid eumsdlwmkiseiles Hm eréemd sfuraraa genanmd H6dly i
A) e odlar fs Saromer QBB EpeTme sRSLLUTDS QhSlwreie iembhgdrers)
(B) s wiigdlelmpg 5000 B L it o s o drerg) |
: (C). S|DXTGG) ;_sl_u@euuu Blevaseflg)b Lwiatd ey aymis uresuiar Boribd 9. 02 &8
cuansudled gemma;asuul_@\mm@ '
D) @8l @I DE ST Bja@LOLILITED (BRO) 2 peunsaLiuicLg

E)  fev Osfluelsdes

GSCE/2021 : 32 n



63.

64,

Which Lok Sabha election had the VVPAT was came into existence?

(A 2014 Lok Sabha election

(B) 2015 Lok Sabha election

(C) 2006 Lok Sabha election

(D) 2000 Lok Sabha election

(E) Answer not known

55 &&ET sy Caipelle) aumsE @lims L6 (pon FerL(PDN&E eubssl?
(A) 2014 wesaameu Csitge :

(B) 2015 waseareneu Ggr'ré;eb

W 2006 eseimo Gorads

(D) 2000 wéserenes Cairza

(E) eflenL_ @gyﬁ]usﬁé}mm

According to Constitutional Act 338 A. Which commission was setup with effect from
19th February 2004? ;

(A)  National Human Rights Commission
(B) National Women’'s Commission
(C*/ National Commission for Scheduled Tribes

(D) National Commission for Backward Caste

1

- (E) = Answer not known

@,r_r;@m oirfluaanliber 338 A eug) aﬁ];ﬁluulq. GTEUG TEMERTUILD (Bg;rrg)guaﬁ}aaquL@ Gdgeur
19, 2004 apsed BevL_(panmudled 2 ererg)?

A) Csflw weallg 2 Meser yeeanriD
(B) - Caflw wseafli yememrid .

C) Gzfu uQrEJ@Lq,uQs&fr <2}, ENEWTILILD
(D) Csélw Gpul CLnT ,enemTiD

(E) eler Gsflueldame

&8 _ GSCE/2021
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65. Ramvilas Paswan — made Guiness Record for winning highest margin of votes in

parliamentary election of which state?
(A) Bhagalpur (B) Buxai’
(C) Banka (D%ajipur

(E) Answer not known

prbeflerey Limevairen feraran Qrssmi( Qg Qeupdluem ks Csm@suder @uwir
(A) UsSeLT : B) ussmi
(©C) umsr i Sy AT LI

B shei Qabisdoms

66. Assertion (A): A galaxy is a system of billions of stafs, stellar remnants, inter

steller gas, dust and dark matter.
Reason (R) : The Milky Wajf is the galaxy that contains our solar system.
(A) (A) is true, (R) is false.
(B) Both (A) and (R) are true and (R) is the correct explanation of (A).
(C) (A)is false, (R) is true. .
Both (A) and (R) are true but (R) is not the correct explanation of (A).
(E) Answer not kn_own
sapm(A) 1 eff Sjer b Ndellwen semssrer B ssHrmaer, bL oSy edamiseT, BL&ESSET
QUMLESET, G LHMID LeoluLmg QummL sener 2 6Tarl_ddlu|6rerng.
sryend (R) 1 Liméd eufl oyairi_ib ereimg) b @ Mw @@Lbum'épsmmg@@m E(Th DABTL_LOTGLD.
A)  (A) &l e (R) saun.
B)  (A) wpgid> R) @ren@ib> &, Guogiib (R) eranug (A) -edie sfluiar eilarsib.
©) (A gaup pema (R) &f.
D) (A) wpmib (R) @@ s, eparmé (R) arenig) (A) —efp@ sflurar eflenésioda.
E) o Asfucldme ' '

GSCE/2021 - ' - 34 _ n



67.

68.

Assertion (A) : Intensive Agriculture pattern, farmers prefer the cultivation of

short duration crops.

Reason (R) : Generally it is practiced wherein the size of the agricultural land

holding is small. _
(Aﬁoth (A) and (R) are correct. (R) 18 correct explanatlon of (A)
(B) Both (A) and (R) are correct. (R) is not the correct explanation of (A).
(C) (A)is true, (R) is false.
D) (R) is true, (A) 1s false.

(E) _ Answer not known

gapm (A) : | Sy aﬂéu&rru apepuile Gniflu sme uuﬁ]r’raasif uuﬂrﬂL_L'_ru@.l.%lsth)@T.
SITITEOTLD (R) : éﬂmmﬂm:.b Gevnars 2 arer u@gHaafld Gubapenp WerLpplLHEDng.
(A)  (A) wpmib (R) sflwrerene. (R) ez (A) ssnan sfluren eferésid @t
B) (A wpgd (R) sfluraeoe. (R) wyang) (A) ssen sfluner efarssid Side.

© (A ofl e (R) seum.

D) @® &rﬂ spamed (A) seum.
E) el Asflweieraner

Deals with the distribution of human communities on the earth in relation to their

geographical environment ;
(A),/ Anthropo Geography . (B) Social Geography
(C> Bio Geography (D) Political Geography

(E)  Answer not known

weflg spsisaiean LFeuID iEFpahIsaier Lelulwed Graib GPISS R Uigy
(A). wreflefwe LeSufuie B swstyeddue.

) o 0F et @) BB g

B e Osfudidboe, ' |
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69.  In the First battle of Tarain in 1191 A.D. Prithvifaj Chauhan, the ruler of Ajmer
(A defeated Muhammed Ghori : |
(B) was defeated by Muhammed Ghori
(C)  first battle of Tarain was not fought in 1191 A.D.
(D) none of these

(E)  Answer hot know_h

£.9. 1191 s seoyan Uil eyt oigsi AfGefre Qoersmean
A)  wswg Carilaw Canpsigsst _
B) @SSLDQ; Camifl Qeun G]uforjm’r
. (C) . (PS5 gm)rjeirr Gumr &.149. 1191 —& ;BGE)I_@LJ[_DG&G:UG&Q)_
(D) Qe simaisgib G '
(E) el Qsflwuelaome

70. Name the states where the Bhamini government spread over
(A)~/ Maharashtra and Karnataka
(B) Maharashtra and Gujarat
(C) Maharashtra and Telangana
(D) _ Maharashtra and Madhyé Prades.h

(E)  Answer not known

urruS].saﬂ.&rJ& Epsaa eThg rhlemsaie Lyed @@D‘E@J
(A)  wamyTesqrT LHMID STHTL ST
(B)  waTTeiNTT OO GRS
(C) Loasrrr,rrr'abpicfr,rrr wHnId Qsa) iRt
(]j)  IDSTYTE%I T OHMILD &S W @ﬁ@g&b
. E) e Gg!ﬂu;l@ﬂﬁ)ﬁﬁ)é‘t} :
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T12.

73.

Who was announced August offer in 19407
(AygLord Linlithgow ' (B) Lord Wavel
(C) Lord Mountbatten (D) Minto

(E) Answer not knowr_l

1940 & ysevl GamenL el a@aﬂ@gmr’r wr?

@A)  SHeredsCan Gy B) Geuesd Gy
7 e e D) HanGm
E) oo Osfuddomn e

One Kalam is equal to kg.

@A) 27kg = ' (Ms kg

©) 32kg ' D) 72kg

(E) Answer not known

(1 HFOSHIHGE FLOID Y (GLD

@) 27 88 - (B) 2844
©) 3288 D) 7284
(E) eflen Qgflwedecranen

On 29t March 1857, who was hanged?
(A) Bahadur Shah R (B) Tantia Tope

(C) JansiRami _(Wangal Pande

(E) Answer not known

29 e 1857—61) Wit grédledl_ i Lmir?

@A) ussitegT | ®) smHur G

(C) grend pranf] : _ (D2 Abmiser LimarGL
(E) oo Gsflueideme |
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74.  The order of following words seen in preamble is

18 Democratic -
2. Socialist
: 3.. Sovereign
4, Secular
Republic
(HL/ 3,2.4,1,56
2,3,4,1,5

©) B2 145
M 31.254

(E)  Answer not k_nown

Sp&eramibd Asmhadr apsliLamrde aps euflesdion @b Quppererar?

= W&HSermL_&

2. ' ST

3. QeppwireTento
4. mg;&rrr'n_(ﬂé:.mmm'
5. GG LITE

A 3,2,41,5
M) 2 341,5
). 85,2145
D) 3,1,2,5,4

(E) efeni @gﬁﬂmaﬁ]é}@m
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75.

76.

Which of the.following is the J lidiciary for Maharastra and Goa?

(A)

.
(©
D)
(E)

Madras High Court

Mumbai High Court

Supreme Court of India
Madurai branch of High Court

Answer not known

W& Trmeyl 7 Hnid Careuraysarear Qurgeurear BHlweanpid

(A)

- ®)
©)

®)

(B

Qeemanen 2 wirBHLoemmid
(pbenLs 2 wirbSlenmid
QiBu 2 55 fHoarpid

2 wirBd e LD@J;ﬁ)U Hewer

eflenL_ Qs fwelldensy

Which feature of the Indian constitution stipulates that it shall be the duty of every
citizen of India to develop the scientific temper, humanism, the sprit of inquiry and

reform? Y
_(AV Fundamental duties
(B) Fundamental rights
(C) Directive principles of state policy
(D) Preamble
(E)  Answer not known

QbHu Sipfluea@bliLg s L SE6T eTh DELD peuCleum(m @Eﬁu_l @qmaamsmu.;ﬁaﬁlaﬂuﬁb
e ILMEIE, welsCHWILD, SpUBsHlub Calms , EBssn pSwepamp aaisgs Cererer

Couart(HLd erem euaSlmISSISASI?

(A) Silq LILIGDL SLGOLOEET

B) suglueL 2 fMamwser

(C) s Qsrearansufener Gp ug@g@m Carl_urhaer
D)  wsa@r

®) e Gsfucidma
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77. Assertion (A) :

73" Amendment Act brought rural local bodies.

Reason (R) -Dema‘ocracy reached grass root level through local governmeht.s.

Directions Given below are two statements labelled as Assertion (A) and
Reason (R) in the context of two ‘statements, which of the
following is correct.

(AN Both (A) and (R) are true and (R) is the correct explanation of (A)

(B)  Both (A) and (R) are true but (R) is not the corréct explanation of (A)

(©)  (A) is true but (R) is false

(D)  (A)is false but (R) is true

(E) Answer not known

amom (1)

SITFemTLD (<=1)

- <MLL

13-eugl  Hmsssden  pped 2 areTm & yenlisen

FHUBSSILL L e

wéseTTLSlwuneng o ererrl & ireThishsefem ELPEVLD alorggl;@
&G ClgemmenL_b5g).
Fapm () eemd smewd (=) eeeyd  CQsra()

Iﬂ]ehm@mmajﬁ)gum 6T &rﬂﬁJrr@:ﬂﬁm_su.

A) (=) wHyb (<) Qrean® efwurerg), smyamd (<) sapm (<t)efwrer efleréaomELD

B) (=) wHmb (=) Quan® sfluneng), <panmed sTrewd (<) &sOM&SE (=) sflwme

eleT&HHL66

(C)  anpm (1) & yemed sryewTd (<24) Seum)

D)  spm (=) Beumy Syemed STyERID (<) &l

(E) efenr Qsfwelcrane
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78.

T8

- Lok Adalat was introduced in the y'éar

@) 1950 (BAS?

(C) 1984 ' (D) 2000

(E) Answer not known

Gers —igmes Csmem(h euFliul L %@ﬁ@\
WE o 19500 - : (B) 1987
(C) 1984 D) 2000

(E) oo Qsfweierena

28 which organization is exempt the Right to Inforxﬁatioh Act?
(A) Educational Department |

(B) Highways Department

(C-)/ Intelligence Bureau

(D) Corporation Offices

(E) Answer not known

28 ssaua dluyb 2 Menod &L §5le0l(mng ellevsEl Gunm &Gmmlf_lq eTHI?
(A)  sa6is siemm

B) OphessT@ns gop

(C) eaaggen uamflwsd

; (D) LOABSTTLE @) 6 EHBISET

E) e Azflweldme |
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80. Under which system the ownership of the land was maintained by the collective body

usually the villagers?

@)

(

©)

D)
- (B)

Zamindari system
Mahalwari system
Ryotwari system
Land Tenure

Answer not known

Gemeumd pepselley erhgd wep pmw wasamerer @pedant Heog Q&rr{r_r,g,a;asrrr,rrrasmrras :

Qmpal Hireurad Qeiigeni?
Q) giesni g

B)  wandari o
©  Quusgieurl eperp
D)  floemon peop
(E)

aSen QsRweidena

" 81. “The Kisan Credit Card” scheme (KCC) was introduced in

(A)

1996 — 1997

(Bc)J 1998 — 1999

(©
(D)
(E)

1999 — 2000
2000 — 2001

- Answer not known

. “o_peuen sLar DLl (Hagrear HQArg Ll sril) ghuBSSw e |

(A)
(B)
(©)
D)
(E)

GSCE/2021

1996 — 1997
1998 — 1999
1999 — 2000

- 2000 - 2001

efllenL_ Qg Mwelevenen
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82.

83.

Self Help group bank linked programme was started in

A

(
©)
D)

(&)

1990
1992
2010
2016

Answer not known

s 2 568l& @péeeT auhd @emamis &L ib

(A)
B)
©)
®)

(E)

: Assertion A) :
Reason (R) :

(4)
V4

1990
1992
2010
2016
slem. QsitiiBiditven,

(A) is true, (R) is false

& QTLUGSELIULL G

Both (A) and (R) are true and (R) is the correct explanatmn of (A)

Both (A) and (R) are true but (R) is not correct explanatlon of (A)

GLrUuT Qbdwreler sHMEF Gelwe GHISS igs&SaTdll L.

Ramachandra Guha calls Kumarappa as “Green Gandhian”.

Kiimarappa was the founder of modern environmentalism in India.

@urioéshdT GST SleuTEET GLILILITEE ‘LFE STHE GTeiD DMPESTI.

&) wpgio (R) @ran®id &l Glogd (R) erémug (A)elihe sfwirer eflaréstd

(A) womid (R) @qsm@m &f <y amme (R) eramug) (A)— @9];1}@5 sflwimes aﬁlmasaaa.nsoeu

(C) (A)isfalse, (R)is true
)

(E) Answer not known
apm (A) :

syenid (R)

A) (A il yama (R) soup
(B)

©) @A) saum %mnw (R) &M
()

E) oL Asfueiivme
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84. The reformation in England was started not by the theologians, but by the kmg
(A) Louie XIV

(B}JHeni‘y VIII'

(C) Louie XVI
(D) . Louie XV
(E) Answer not known
Quiamded EHoss pLansmsss  ssse Pl  QOsMLksHLLTOS
weranyrCaCL QamLkisriL_Lg). e wri?
LAY 1445 ol
(B) 8- Qapend
©)  16-ib @na
D)  15-1b gnd
E) o Osfwcioae

85. Who said “Better buliock carts and freedom than a train deluxe with subjection”?
(A'X/! ' |

B) M. -Véeraraghavachari

(C) G.S. Arundale o

(D) B.P. Wadia

Annie Besant

(E) Answer not known

‘oifipeian eusdla@pan smqu qullelle BjgemwseTna @@uumg)sﬁk_ arrg(r_r;;ﬁr;rg,@l_m olg ULl

Lom{ euetrig Gu ﬁg);bg,@ TGS SnMIWIeUT Wri?
Q)  emelQues

B) M. eSpyrseungan

C) GS. omanGe

(D) B.P. amquir

E) e Gsflueidme
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86.

From the following statements state which, statements are correct or incorrect

Statement I: The Dandi March was to cover 395 kms from Gandhi’s Sab_armati

Ashram to Dandi on the Gujarat Coast

Statement II: Gandhi set out on the March 'an.d Reached Dandi on the 25th déy

(1.e) 6 April 1930
(A) Statement I and II are incorrect
(B) Statement I is correct but II is incorrect

(C) Both stat_emenf I and II are correct

: _(D)n/Statement I is incorrect, but II is correct

(E) Answer not known

Spsaa mpmsafe ag oM, g seum erar GHLAL_eayb
gapm I : sMhEWig saflen FLMOE %ﬁ TGS e Poha GRS sLHs@ICLTTD o Girar Sty
| auey 395 _ﬁ@a}rr B Qsrenea)s@ sarriq iTslent 'E)GBL_@UH).@(EE‘E)QJ
aisx_ﬁ)@ II: sipdHugser &JU%QG&)IUUJ[T.&E LF)I_‘I'_EQ B EHTIq G0 LI 25_611@ Bratled SiFmeug) 193.0_ GrLied
6 @6 Qacigy ievL g :
vy - spotahoy Ul seon
(B) a%xﬁ}gm L&l pamad anpm [T geum

©C) enmIaf sapmy II &f

D)  wmpy I seumy yemed sapm [T s

(E) &Senr QgMwallevencw

& L _ GSCE/2021
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87.  Which of the following statement, Lokmanya Tilak, wrote in his papers Kesari and
Mahratta, are true? '

(A)  The victory of the coral mill workers

(B)  The victory of the Dandi salt sathyagraha

(C)  The victory of the vedaranyam salt sathyagraha
([))/ The success of the Swadeshi Nayigation company

(E) Answer not known

Gonsremy SHost seargeL Gasih, wrrlLn  usHfmsseiier erpdu  spmsaia
Epsar_cunile gl o erenLowImes? :
(4) Gsmawe Asmherarisefer Geun
B)  seing o0l shuTAssHen Qeup = | %
(C) Ceugmyewrwid 2 Uy GHwnd IIQEQ’_;{@GBT Qaupdl

D) a2 8.6 sCs8 sliLd Hneuasdar Qeupd

(E) &fev QeMlwelerane

88. How many terms of the series 1+ 5+ 9 +.... must be taken so that their sum is 190?

@Ay 7
B) 8
(e .. 9
( 10

(E) Answer not known

1+ 5+ 9 +.... erenip Qgre earggenear 2 mliLisanens gl iganme Fabhigen 190 fean_&@Lb.

@ 7
B 8
© 9
®) 10

(E) &len GAsflweSerensy
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89.

90.

91.

If we multiply a fraction by itself and divide the product by its reciprocal, the fraction
thus obtained is 18 % The original fraction is

Gan o N ey

/22 L

(E) Answer not known

@m Geararsans 2Cs Ueararsgmed QU@mES, igear QUBHSES sTasmi jliGeags e
s@DEPUTD uEEss Sl ssé saigw GeranDd 18 %f;l arafled LIS MSE S TERTS.

@ £ | B 1

2
ol

oy ¥

1
_ @) 31
(E) &fen Qzfwellcbeney

4 typists are employed to complete a work in 12 days. If two more typists are added

they will finish the same work in days.
@ 7 ' | (
C -9 = : : O 10

(E) Answer not known

4 plissiaem @ Gaumeweaw woss 12 prase  aBsgsCsrardamert. @m@'m

2 gl &siiaar sn(hgonss Gaipbsme, <iGg Cauamaens ——————— prersafled Gelig) (wpig LU,
e | B) 8 | '
(). - 9 : D) 10

(E) oo Gsfluelaame

If 5 persons can do 5 jobs in 5 days then ,50 persons can do 50 jobs in ————— days.
(A%/ 5 ] B) 25 |
(C)y - 50 ' D) 55 -

(E) . Answer not known

5 puiser 5 Geuenawsaner b preTseiler Ceig piglur eale 50 puTser 50 Caumasaar

BreTsatld Qg g LILIT. _
) -5 “B) 25
© 50 2 | (D) 55
E®) e Gsflucddma
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92.  The ages of Rahul and Haroon are in the ratio 5 : 7. Four years later the sum of their
ages will be 56 years. What are their present age?

A (15,21 : B 20, 28)

) (25, 35) _' - (D) (24, 82)

(E) Answer not known .

& wHnd enmaflsr sHCUTMSL awgsailar eldgnd 5 @ 7. pranE pamadr 055
Sleunseflen euwigiseier amBhse 56 eupL k. SeuTsaier SHCLTMSW alLg) eTETET?

(A) - (15, 21) ' | By (20 28)

0 " (258 (D) (24, 32)

E) o Csfusidme

88 Find tha LOM of the fallowing
x* - 27, (x - 3f, x* - 9 _
@A)  (x-3)(x+3)[x* + 3x +9)
B)  (x-3P(x? +3x+9)
(C)J(x 3P (x +3)(x? + 32+ 9)

®)  (x—8F(x+3)(x* - 3x +9)

(E)  Answer not known
SeniieeisiBing it Qo s s
£ 97 [c-3) 2 -9

@)  (x-3)(x+3)[x* +3x +9)
®) (x ;—_3)2(3:2 +3x+9)

©  (x-3F (x+3)(x* +3x +9)
@ (r-3F(x+3)(x*-3x+9)

(E) efen Qgfweliervency
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94.

95.

96.

The price of an item 1s increased by 20% and then decreased by 20%. Then the final
price as compared to original pnce is

A)  20% less : (B) 20% more

(C) 4% more : (M% less

(E) - Answer not known :

& Qummartler Gﬁamsourrstﬂgj 20% &ﬁ&ﬂggj Yemr 20% @'mmaﬂmg} WP elencueniu U HID
Qumrps seL_& eflenewimens _

A) 20% gopey (B) 20% odlsid -

©C) 4% .H_mélsm _ - (D) 4% eeopey .

E) e Qgfwelicrane

There are 560 students in a school. Out of 560 students, 320 are boys Find the
percentage of girls in that school -

(A 42.86% = (B) 40.26%

©) 42.68% ' (D) 40.32%

(E) Answer not known :

e LeTafludé 560 rewreuTseT o drareir. @4;5]60 320 Guir @sturrasm erafled, oibsLs uarafludie
2 arer fpilsafler ssaissmss srenms.

(A) 42.86% - (B) 40.26%

C) 42.68% | (D) 40.32%

E) oL Osfueidme

3 A

Simplify : —— + —

xXx—y ==
S +ay+y? | B) x*-xy+y’
C) x*-xy-y° D) 2*+xy-y

(E) Answer not known

3 3

F(HEGS el
X-y y—-x |
A ey B) Temiy

L) »-xy-oy (D) o0y
(E) aﬁﬂsmL @g,rﬂu_la‘:ﬂmsmsn : >
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< 9.

98.

99.

The meah weight of 4 members of a family is 60 kg. Three of them have the weight
56 kg, 68 kg and 72 kg respectively. Find the weight of the fourth member

4) 40kg (B) 56 kg
(CNS 44 kg o #0068 ke

(E) Answer not known

2 Ghbussaerer 4 puisefler eranl_serflen &|;rrr.5=rﬂ 60 4.4, .@;Gunasaﬂsu @,osurﬂem TGN L_&EIT

. 56 81.8l, 68.4.8. wpmib 72 &.4. erafled prensmoeMen el amwis STans

A) 4044 . (B) 564.4.
© /44848 (D) 68 8.4.
E) oo Osfusddme |

The mean of p, g, r,s and ¢ is 28. The mean of p,r,tis 24.
Find the mean of g, s

AN 34 a6

Gy 28 e _ @y 20

(E)  Answer not known

P, q, 7,8 wpyid t —Glen syme 28. p, r, t—:@ﬁiﬂ gyrgrfl 24.
eTalled g, s @) FyTFl HrewTs .

A) (34 B) 26
&) 22 : D) 20
€ e Gsfiucddee ' 2

There are four 5's, nine 6’s, six 9's and five 4’s in the number list. Mode is
@ 5 | By 4 |
© 9 ovb

(E) Answer not known

R eremr g-_i';){L_L._GLIG@@'OTLISIGD IBITG0T(3 5—85@LD QemLg 6-&@Ep, <l 9“5@3@ gbg 4-sar

-2 _grenen erenfled (s (H

AV B | . ® 4
€ 9 | (Dy 6
®) oL Asflweldame
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100. Study the following bar-graph and answer the question given below.

Production of fertilizers by a company (in 10000 tonnes) over the years.

7 A

L dns

S 90+

> 80+

§ 70 4 65

S @it
£ 504 _ o 45
o 40 + _ L :
g’ 304+ 25 g ?
Vel Z ~
2 Z 2

0" 1995 1996 1997 1998 1999 2000 Years

: What was the percentage decline in the production of fertilizers from 1997 to 19982 .
(A) 331% % (B) 30%
(N 25% & D) 20%

- (E) Answer not known

&G edrer Qedausiiulienl eueajuLdms UwaL(Bss, Cslsiu@n elamelpe
fepL_wiaflEsaib.

(5 Hlmyeuensder ig&@ugﬁ (10000 Lensaflen) écmbamsr@ eumflwima.

»

90
80 +
Filee
60 -

()]
(&3]

60

50 45

40
30
20
10 -

:

0" 1995 1996 1997 1998 1999 2000 SyETHEET

e

AN

ANNNNNNES

g56igb (10000 Lensefle)

AN

.

1997 ef(mhg 1998 %Lb“.%s&u'r(g 2 72 HUSHUND G DeUTETSHEN EHEIGLD 6TerTen?
(A) 331% | ' B) 30%

C) 2% : (D) 20%

E) ,GQGDI_ Gz flwellerenen :
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Read the following instructions carefully before you begin to answer the questions.

IMPORTANT INSTRUCTIONS

You will be supplied with this question booklet 15 minutes prior to the commencement of the examination.

This question booklet contains 100 questions. Before answering the questions, you are requested to check
whether all the questions are printed serially and ensure that there are no blank pages in the question
booklet. If any defect is noticed in the question booklet, it shall be reported to the invigilator
within the first 10 minutes and get it replaced with a complete question booklet.
If the defect is reported after the commencement of the examination, it will not be replaced.
Answer all the questions. All the questions carry equal marks.

You must write your register number in the space provided on the top right side of this page'. Do not
write anything else on the question booklet.

An answer sheet will be supplied to you separately by the room invigilator to shade the answers.
Instructions regarding filline of anawers ete.. which are to be followed mandatorily, are provided in the

answer sheet and in the memorandum of admission (Hall Ticket).

You shall write and shade your question booklet number in the space provided on page one of the

_answer sheet with BLACK INK BALL POINT PEN. If you do not shade correctly or fail to shade the

question booklet number, your answer sheet will be invalidated.

Each question comprises of five responses (answers) : i.e. (4), (B), (C), (D) and (E). You have to select
ONLY ONE correct answer from (A) or (B) or (C) or (D) and shade the same in your answer sheet.
If you feel that there are more than one correct answer, shade the one which yvou consider the best.
If you do not know the answer, you have to mandatorily shade (E). In any case, choose ONLY
ONE answer for each question. If you shade more than one answer for a question, it will be treated as a
wrong answer even if one of the given answers happens to be correct.

You should not remove or tear off any sheet from this question booklet. You are not allowed to take this

question booklet and the answer sheet out of the examination room during the time of the examination.
After the examination, you must hand over your answer sheet to the invigilator. You are allowed to
take the question booklet with you only after the examination is over.

You should not make any marking in the question booklet except in the sheets before the
last page of the question bbok_let, which can be used for rough work. This should be strictly
adhered to. ' :
In all matters, the English version is final.

Failure to comply with any of the above instructions will render you liable for such action as the
Commission may decide at their discretion. ;
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